ICS 103-55 Quiz#2 Version B Key (Term 102) 
(A) Write a pseudo code algorithm that uses an appropriate loop to convert temperatures in Fahrenheit to temperatures in Celsius. The algorithm prompts for and reads the starting Fahrenheit value, the end Fahrenheit value, and the temperature increment. It then behaves as follows:
	startingFahrenheit >= endFahrenheit   or 
 increment <= 0
	Display error message and exit program

	otherwise
	Display a table of Fahrenheit and Celsius values from starting Fahrenheit value in the given increments


       Note:   Celsius =  5.0 / 9.0  *  (Fahrenheit  -  32.0)
(B) Convert the above pseudo code algorithm into a complete C program. Sample runs of the program are:
(i) Wrong input temperatures:

 [image: image1.jpg]Enter start fahrenheit, end fahrenheit and increment
6.0 10.9 2.5

lrong input temperatures or increment values

Press any key to continue . . .




(ii) Wrong increment:

  [image: image2.jpg]Enter start fahrenheit, end fahrenheit and increment
16.0  70.0 0

lirong inpué temperatures or increment values

Press any key to continue . . -




(iii) Valid input:

 [image: image3.jpg]Enter start fahrenheit. end fahrenheit and increment
20.0  80.0  10.9

Fahrenheit Celeius
-20.00 -28.89
-10.00 -23033

0.00 -17.78
10.08 -12.22
20.08 6167
30.08 —11
1008 4744
50.08 10,08
60.08 15.56
70.08 21011
80.08 2667

Press any key to continue . .




       (A)

1. Prompt for start fahrenheit, end fahrenheit, and increment

2. Input startFahrenheit, endFahrenheit, and increment

3. if(startFahrenheit >= endFahrenheit or increment <= 0){

    3.1   Display error message
    3.2   Stop
 }
else{

3.3 Display Table header

3.4 while(fahrenheit <= endFahrenheit){

   3.4.1  celsius  ( 5.0/9.0 * (fahrenheit - 32.0)
            3.4.2 Display Fahrenheit and celsius
            3.4.3  fahrenheit ( fahrenheit + increment
       } 

     }

4. Stop
    ========================================================================

   (B)

#include <stdio.h>

int main(void){

    double celcius, fahrenheit, startFahrenheit,endFahrenheit , 
       increment;

    printf("Enter start fahrenheit, end fahrenheit and increment\n");

    scanf("%lf%lf%lf", &startFahrenheit, &endFahrenheit, &increment);

    if(startFahrenheit >= endFahrenheit || increment <= 0){

       printf("Wrong input temperatures or increment values\n");

       system("pause");

       exit(1);

     }

     else{

          fahrenheit = startFahrenheit;

          printf("\nFahrenheit\t\tCelcius\n\n");

          while(fahrenheit <= endFahrenheit){

                celcius  = 5.0/9.0 * (fahrenheit - 32.0);

                printf("%6.2f\t\t\t%6.2f\n", fahrenheit, celcius);

                fahrenheit = fahrenheit + increment;

          } 

     }

    printf("\n");

    system("pause");

    return 0;

}

